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General Instructiong -
Read the following instructions very carefully and foliog them ;
(i)  This . Question  paper contains 30 questions, Ay questions gre
compulsory. ' . “
() Question paper is divided into FIVE SECTIONS - Section 4, 3 ¢ p -
&E | 3

(ii1)  Section A - question number 1 to 12 are Multiple C:"tam i:mg
Questions. Each question carries I mark,

(iv)  Section B ~ Question number 18 to 18 are Short Answer type questions,
Each question carries 2 marks. Write answer to each: question in
5010 60words, TR ;

(v)  Section C - qQuestion number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write ansier Lo each question
in 100 to 120 words.

(vi)

Section D - question number 24 to 26 are Passage, Cartoon and Map-
based questions. Answer eqoh question accordingly,
(vii) Section E — question

number 27 to 30 are Long Answer type.IT
questions. Each question carries 6 marks. Write

answer to each 'question
in 170 to 180 words,

(viii) There is no overall choice in the question paper. However, an internal choice

has been provided in few questions. Only one of the chotces in such

questions has to be attempted:

(ix)

questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
candidates only.
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SECTION- A

fuestion Nos. 1 to 12 are Multiple Choice type questions carryin
| mark each. 12
X,

1. Given below are two statements :
Statement-1 : The collapse of the ‘Second World' of the Soviet Union and

the socialist system in Eastern Europe had no profound

consequences for world politics.

Statement-I1 : The end of the Soviet bloc meant the emergence of many

new countries. All these countries had their own mdepmdﬂt

aspirations and choices.

Option :
(A) Both Statement-I and Statement-II are trué. -
(B) Both Statement-I and Statement-II are fa]s&

(C) Statement-I is true, but Statement-I1 ia. ales .“ |

(D) Statement-I is false, but Statemantﬁﬂ.i!

ublics was &

2.  Which one of the following rep
Union was disbanded’ ?
(A) Lithuania




L
‘1 Which political party won 16 Lok ﬂﬁn gente and was at second place in
the first Gencral Election of India ?
(A) Communist Party of India
(B) Bharatiya Jan Sangh
(‘3} Soeialist Party
(D) Swatantra Party
5. Choose the correct full form of the EVM.
2 (A) Electric Voting Machine
(B) Easy Voting Machine
(C) Electronic Voting Machine
(D) Election Voting Machine

o Match the terms given in Column-A correctly with Column-B and g

the correct answer from the codes given below : '
Column-A Column-B
| @ | Balance of Power | () | Giving up certain types of wé
(b) | Disarmament (ii) | Security _ e
© | Migration (iii) | Traditional security
(d) | Freedom from threats | (iv) | New source of th
Codes:

(@) (b) () (d)
@A) i) 6 (v) @)
B ) 0 i) G
© G @) @ (i)
@ @ v G oo
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- 11, In the following question, a statement of Assertion (A) is followed by 2
statement of Reason (R). Choose the appropriate option as correct answer -
Assertion (A) : The government suspended the freedom of press and

implemented press censorship during emergency 1
1975.

Reason (R) : Newspapers protested against censorship by showing the
cartoons only,

Option :

(A) Both the Assertion (A) and the Reason (R) are correct, and the Reason
(R) is the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the Reason
(R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is incorrect, but the Reason (R) is correct.

(D) The Assertion (A) is correct, but the Reason (R) is incorrect.

12. The book “Limits to Growth” deals with which one of the following

problems ?
(A) Exploitation of resources (B} Deforestation
(C) Growing population (D) Hole in ozone layer

SECTION-B 6x2=12
13. State any two limitations of European Union.

14. Analyse the Congress Party as a social coalition.

15. Suggest any two ways to reduce economic disparity between the poor and
the rich countries at the global level.

16. Explain any two differences between the First Five Year Plan and Second
Five Year Plan.

17. Explain any two reasons for the split in the Janta Party in 1979,

18. State any two components of Traditional notions of external security.
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dian culture.

19. Describe the impact of globalisation on the In

i dira Gandhi in
90. Analyse any four factors that enhanced the popularity of In

the early 1970s.

21. (a) Explain any two reasons for the beginning of & long phase of coalition

polities in India since 1989.
OR

(b) Explain the role of ‘Other Backward Classes’ in the Indian politics.

22. (a) Analyse the basis of projecting China to overtake the US America to
become the world’s largest economy.

OR

(b) “While the Chinese economy has improved, not everyone in China
received the benefits of the reforms” Analyse any two reasons fi
or
this.

23. Highlight any four features of India’s foreign policy
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& =
3x4=12
~ SECTION-D o
e s ve been marke
24, - In the given political outline map of India, four states ht;e o
as (A), (B), (C) and (D). Identify these states on S
information given below and write their correct na.men in :; um:d =l
book along with the respective serial numbers of the information

the concerned alphabets as per the format that follows : 1+1+1+1=4
Serial number for the Alphabet Name of the

information used concerned States

3 )

| (i) ,

| (iii)

| (iv) !

(1)  The state, where the assassination of Rajiv Gandhi took place.

(ii) The state where Karpoori Thakur was g Chief Minister.

(i) The state where UPA won the majority of geats in Lok Sabha
elections in 2004,
(iv) The state where Bahuj

Jan  Samaj Party (BSP) achieved a
breakthrough in 1989 & 1991 elections,




e\

Note: . The following questions are On
Candidates in lien of question nu

(24.1)
(24.2)

{24.3)

24.4)

& s
ly for the Visually Impaired
mber 24, Name the following !

1+1+1+41=4
Name the state where Rajiv Gandhi was assaseinated.
Name the state where Karpoori Thakur was a Chief Minister.

Name the state where Bahujan Samaj Party (BSP) achieved a
breakthrough in 1989 & 1991 elections.

Name the alliance that formed government at the centre in
1989,

25. Study the given picture and answer the questions that follow :

1+1+1+1=4

(The given cartoon is about USA’s invasion on a Gulf Country.)

B NOW THAT WE'VE DESTROYED YOUR
COUNTRY, YOU CAN PAY

(25.1)
global strategy ?
{A) Water (By il
(C) Land (D) Automobile

(25.2)  Which of the following regions accounts for about 50% of global oil
production ? ]
(A) Europe (B) China =
(C) Gulf Region @) dapan 4.5-5*;’;" =
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o
' . aded by US America -
(25.3) Eml;ﬁ:lf country was 1nv ' e
(C) Kuwait {D}f Iran s T
(25.4)  What was the objective of the United States of Am :
the Gulf country ?

(A) To get control on the oil resources
(B) To get the territory of a country
(C) To establish its army headquarters
(D) Tostop USSR from entering this region

Note: The following questions are only for the Visually Impaired
Candidates in lieu of question number 25. 1+1+1+1=4
(25.1) Name the largest oil producer country.

(25.2)  Which region produces 30% of the total oil produced in the
world ?

(25.3) Which Gulf country was invaded by USA ?
._ (25.4)  Explain the objective of the US to attack the Gulf country.

26. Read the passage given below carefully and answer the questions that ,
; follow : 14 I"I 1+1 =4
! The Central Asian republics did not ask for ind ependence and
;::1 \ wanted to remain with the Soviet Federation. In December 1991' under
the leadership of Yeltsin, Russia, Ukraine and Belarus declared that the

Soviet Union was disbanded. The Communist, Party of the SﬂﬁEtUnnﬁ
‘pases for the

[ was banned. Capitaliam and democracy were ad e
: -Soviet republics. The declaration on th::ﬁ:;t:;ﬁt:: of the USSR
and the formation of the Commonwealth of Inde Gotidadt W{E{ﬂ
; came as a surprise to the other republics, espe “-_a"'!,'ﬁ the cmﬂglﬁﬂln
e ones. ne
(2-61} Which ldﬂﬁlﬂﬁ was adopted by the .Soviet ﬂﬂl.lﬂw -
\ i (B) Cap.italiit’l'#d i |
| ffjh ?:;:E:t D) Dammhﬁ:m' . ccassor of the
; s among th * SO :
\ i Soviet Union ? e following became
\ (A) Belarus
(B) Ukraine
(C) Commonwealth of Independent State®
() Russia &
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©6.3)  Which one of the following is a Central Asian country ? @) 08

(A) Chechnya (B) Dagestan

(C) Tajikistan
Soviet Union had vast hydrocarbon resources ?

(D) (zechoslovakia

(26.4)  Which part of

(A) Eastern Europe (B) Central Asian Republics

(C) Yugoslavia (D) (Czechoslovakia

SECTION - E 4x6=24

>7. (a) Esxplain the importance of International organisations like the
United Nations in the contemporary world. 6

OR
{b) Explain any four changes that have occurred after the Cold War and
\ have affected the realities of the world politics. 4%x1%=
'

98. (a) Describe any three circumstances under which the State

Reorganisation Commission was constituted. 3x2=6
OR

(b) Describe the circumstances and events that led to Manipur’s
accession to India in 1949. 3+3=6

29, () Analyse the secessionist movement of the people of Mizo Hills area
[

from 1966-1986.
OR

(b) Analyse the Assam movement as a combination of cultural pride and

- P;!hﬁ&,.

economic backwardness.
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